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TRƯỜNG ĐẠI HỌC VĂN LANG 

KHOA NGOẠI NGỮ 

 

ĐỀ THI VÀ ĐÁP ÁN 

THI KẾT THÚC HỌC PHẦN 

Học kỳ 3, năm học 2023-2024 

 

I. Thông tin chung 

Tên học phần:  Ngữ pháp ứng dụng 2 

Mã học phần:  71ENGL30472 Số tin chỉ: 2 

Mã nhóm lớp học phần:  233_71ENGL30472_01; 233_DNN0363_01 

Hình thức thi: Trắc nghiệm kết hợp Tự luận Thời gian làm bài:  60 phút 

Thí sinh được tham khảo tài liệu: ☐ Có ☒ Không 

 

 

II. Các yêu cầu của đề thi nhằm đáp ứng CLO 

 

Ký 

hiệu 

CLO 

Nội dung CLO  

Hình 

thức 

đánh giá 

Trọng số CLO 

trong thành phần 

đánh giá (%) 

Số 

câu 

hỏi 

thi  

Điểm 

số 

tối đa 

Lấy dữ 

liệu đo 

lường 

mức đạt 

PLO/PI 

(1) (2) (3) (4) (5) (6) (7) 

CLO 1 

Áp dụng kiến 

thức về giới từ, 

danh động từ và 

động từ nguyên 

mẫu, câu tường 

thuật, các loại 

mệnh đề - danh 

từ, tính từ, trạng 

từ; câu điều kiện 

và từ nối trong bài 

tập ngữ pháp. 

Trắc 

nghiệm 
40% 40 4 PI 2.1 

CLO 3  

Lựa chọn chính 
xác giới từ, danh 
động từ và động 
từ nguyên mẫu, 
câu tường thuật, 

các loại mệnh đề - 

danh từ, tính từ, 

trạng từ; câu điều 

kiện và từ nối 

trong ngữ cảnh. 

Tự luận 60% 10 6 
PI 4.1;  

PI 4.3 
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III. Nội dung câu hỏi thi 

PHẦN TRẮC NGHIỆM (4 điểm) 

Select the best option to fill in each blank of the following sentences below. (4 marks/ 0,1 

each) 

 

The boys and girls are laughing ______ something they have seen _____ a cartoon. 

A. at ….. in 

B. at ….. of 

C. to ….. in 

D. with ….. on  

ANSWER: A 

 

Maria and John always go out _____ dinner _____ their wedding anniversary. 

A. for ….. on  

B. at …… in 

C. in ….. at 

D. on ….. with  

ANSWER: A 

 

He explained ______ everybody the reasons _____ his action.  

A. to ….. for  

B. at ….. of 

C. to ….. in 

D. with ….. to  

ANSWER: A 

 

The meeting will focus ____ economic problems ____ developing countries in Africa. 

A. on ….. in  

B. in ….. on 

C. to ….. in 

D. at ….. of  

ANSWER: A 

 

I cannot think ____ an answer ____ your question. 

A. of ….. to 

B. at ….. for 

C. about ….. for 

D. of ….. with  

ANSWER: A 

 

Sanctions are one of the tools of the United Nations _________ peacekeeping aims, but with 

some countries, they have proven _______ rather ineffective.  

A. to achieve ….. to be 
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B. being achieved ….. to be 

C. achieving ….. having been 

D. to have achieved ….. being 

ANSWER: A 

 

If it is so difficult ________ weight, why do people keep _______? 

A. to lose ….. trying 

B. to lose ….. to try 

C. losing ….. trying 

D. losing ….. to try 

ANSWER: A 

 

His lawyer advised him not _________ anything to the detective. 

A. to say 

B. saying 

C. say 

D. to be said 

ANSWER: A 

 

Having a car enables you _________ around more easily. 

A. to get 

B. get 

C. getting 

D. to be got 

ANSWER: A 

 

Daisy still remembers ____________ by a dog when she was a child. 

A. being bitten 

B. to be bitten 

C. to bite 

D. be bitten 

ANSWER: A 

 

Idealism is the _____ that a perfect life can be achieved. 

A. belief 

B. believe 

C. positive 

D. aware 

ANSWER: A 

 

Her doctor’s diagnosis ______ that I had an ear infection. 

A. was 
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B. were 

C. is 

D. are 

ANSWER: A 

 

Tom said, “Would you please stop talking?”  

A. Tom asked them if they would stop talking.  

B. Tom told them they had to stop talking.  

C. Tom wanted to know would they stop talking.  

D. Tom wished them to stop talking immediately.  

ANSWER: A 

 

His teacher said to him, “Make sure to leave enough time to check over your test.” 

A. His teacher told him to make sure to leave enough time to check over his test. 

B. His teacher told him make sure to leave enough time to check over your test. 

C. His teacher told to him to make sure to leave enough time to check over your test. 

D. His teacher told to him make sure to leave enough time to check over his test. 

ANSWER: A 

 

“How about having the party at the hotel?”. Maria suggested___________ 

A. having the party at the hotel. 

B. about having the party at the hotel. 

C. to have the party at the hotel. 

D. how about having the party at the hotel. 

ANSWER: A 

 

I don’t know where __________ after work. 

A. she goes 

B. does she go 

C. she go 

D. does she goes 

ANSWER: A 

 

_______ William’s new schedule will be an improvement remains to be seen. 

A. Whether 

B. Why 

C. What 

D. Where 

ANSWER: A 

 

Her mother doesn’t know _______ she loves because she is a very reserved girl. 

A. whom 
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B. who 

C. where 

D. why 

ANSWER: A 

 

Kathy: Can you tell me _________? 

Tony: The film begins at 1:30.  

A. what time the film begins 

B. what time the film begin 

C. what time does the film begins 

D. what time does the film begin 

ANSWER: A 

 

My friend and I are going to ride our bicycles across the country. We will ride for seven to 

eight hours every day, then stop _________ we happen to be at the end of the day.   

A. wherever  

B. whoever  

C. whichever 

D. whatever 

ANSWER: A 

 

A letterbox is a narrow opening in a door through _______ mail is delivered. 

A. which 

B. where 

C. that 

D. it 

ANSWER: A 

 

Fieldwork is practical work ________ outside the school or office. 

A. done 

B. doing 

C. which do 

D. that does 

ANSWER: A 

 

Teachers need to demonstrate a great deal of responsibility in their work to gain the trust and 

respect of the students _________ they work. 

A. with whom 

B. for which  

C. of whom 

D. who 

ANSWER: A 
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An expert observed that playing games is fun, and that is the reason _________ so many 

people have done it for many decades. 

A. for which  

B. of which  

C. about which 

D. from that 

ANSWER: A 

 

Can you ask those _______ outside to make less noise? 

A. standing 

B. stand 

C. to stand 

D. stood 

ANSWER: A 

 

Ladies and gentlemen, if you ________ your seats, we can begin the meeting.  

A. will take 

B. took 

C. should take 

D. taken 

ANSWER: A 

 

______ they not rushed to the hospital, Nicolas would have died. 

A. Had 

B. If 

C. Should 

D. Unless 

ANSWER: A 

 

If I _________ you, I _________ a new car for much more comfort. 

A. were ….. would buy 

B. was ..… will buy  

C. were ..… would have bought 

D. was ….. buy 

ANSWER: A 

 

What if you ____ a lot of money, _____ you give up work?  

A. had ….. would 

B. have ..… would  

C. had ..… will 

D. have ….. did 
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ANSWER: A 

 

If we _______a taxi, we would have come round to see you.  

A. could have got 

B. could get 

C. could got 

D. can get 

ANSWER: A 

 

______ I understand why he thinks that way, I disagree with his point of view. 

A. Although 

B. Because 

C. If 

D. even 

ANSWER: A 

 

You should keep these apples in the fridge _________ they do not lose their freshness.   

A. so that 

B. unless  

C. so 

D. since 

ANSWER: A 

 

Drivers had better not drive _________ they have been consuming such large quantities of 

alcohol.  

A. after 

B. in order that  

C. even though 

D. no matter what 

ANSWER: A 

 

_______ far the way is, we still must go.  

A. However 

B. If 

C. Even though 

D. Because 

ANSWER: A 

 

________ we pass or fail this exam, we need to study harder. 

A. Whether 

B. Because 

C. So that 



BM-003 

Trang 8 / 10 

D. When 

ANSWER: A 

 

Tickets are required for admission. __________, those who don’t have a ticket won’t get in. 

A. Consequently 

B. Rather 

C. Similarly 

D. Because 

ANSWER: A 

 

Only with a great deal of effort ______able to succeed. 

A. are we 

B. we are 

C. can we 

D. we can 

ANSWER: A 

 

What you need to do is ________ a letter to apologize.  

A. write 

B. writing 

C. to writing  

D. wrote 

ANSWER: A 

 

_________ about the place is the facilities. 

A. What he doesn’t like 

B. That he doesn’t like 

C. The reason he doesn’t like 

D. He doesn’t like 

ANSWER: A 

 

_________for a cosy Christmas is my family members. 

A. All I need 

B. All need I 

C. I all need 

D. I need all 

ANSWER: A 

 

PHẦN TỰ LUẬN (6 điểm) 

Use the words given in brackets to complete each second sentence so that it has the 

closest meaning to the previous one. (6 marks) 
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Câu 1 (0.6 mark): Tony was awarded the gold medal five years ago, and he still remembers 

it. (being) 

→ Tony still ____________________________.  

Câu 2 (0.6 mark): “I didn’t do anything wrong.”, John said. (denied) 

→ John ____________________________. 

Câu 3 (0.6 mark): Don’t stop him doing what he wants. (Let) 

→ Let ____________________________. 

Câu 4 (0.6 mark): That children would rather sit watching TV instead of playing outside really 

surprises me. (It) 

→ It ____________________________. 

Câu 5 (0.6 mark): Most of the caves are too dangerous for visitors to get in as there is flooding. 

(result) 

→ As ____________________________.  

Câu 6 (0.6 mark): What she wants to know is how busy her teacher is. (concerns) 

→ She ____________________________.  

Câu 7 (0.6 mark): Four candidates applied for the position, none of whom was appropriate.   

(who) 

→ None ____________________________.  

Câu 8 (0.6 mark):  Dr. Brown talked about socialism during the first lecture. (in which) 

→ I was ____________________________.  

Câu 9 (0.6 mark): There must be a sufficient source of water, or plants will not grow. 

(In order for) 

→ In order for ____________________________.  

Câu 10 (0.6 mark): Environmental researchers believe that human activity is the root of 

global warming. (What) 

→ What ____________________________.  

 

 

ĐÁP ÁN PHẦN TỰ LUẬN VÀ THANG ĐIỂM 

 

Phần câu hỏi Nội dung đáp án Thang điểm Ghi chú 

I. Trắc nghiệm 4.0  

II. Tự luận 6.0  

Câu 1 Tony still remembers being 

awarded the gold medal five years 

ago. 

0.6  

Câu 2 John denied (having done/ doing/ 

that he had done/ that he did) 

anything wrong. 

0.6  

Câu 3 Let him do what he wants. 0.6  

Câu 4 It really surprises me that children 

would rather sit watching TV 

instead of playing outside. 

0.6  

Câu 5 As a result of flooding, most of the 

caves are too dangerous for visitors 

to get in.  

0.6  
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Câu 6 She concerns how busy her teacher 

is.   

0.6  

Câu 7 None of the four candidates who 

applied for the position was 

appropriate. 

0.6  

Câu 8 I was at the first lecture, in which 

Dr. Brown talked about socialism.   

0.6  

Câu 9 In order for plants to grow, there 

must be a sufficient source of water. 

0.6  

Câu 10 What environmental researchers 

believe is that human activity is the 

root of global warming.   

0.6  

 Điểm tổng 10.0  

 

  TP. Hồ Chí Minh, ngày 21 tháng 6 năm 2024 

 Người duyệt đề       Giảng viên ra đề 

 

   

                                                                                            
 

     TS. Nguyễn Hòa Mai Phương                                                       ThS. Trương Phú Sỹ 


